| > #p+1D)p+p+1+p=primebyH-E:

> ¢ := 0: with(StringTools) : print( ¥£-7 18, FormatTime ("%Y-%m-%d-(%r)")) :for h
from 1 to 10000 doif isprime((h+1)-h+ (h+1) +h) then ¢ :=c+1:if # <100
then print([h+1]1-{h}y+[h+1]1+{h}y=PRIME((h+1)-h+ (h+1)+h)[(H

« E)prime(c) ]) fifi: if  mod 250 =0 or /=100 then print([H—l— 11" {H}+[H+1]
100- ¢

+{H}= [{H {1}y 225{h}}H [evalf( 2) "% "}prime]) fi :od:

print( #7118, FormatTime ("%Y - %m—%d—(%r)" )
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[2] {1} + [2]+ {1} =PRIME(5)
[3142} +[3]1+ {2} =PRIME(11)
[4]1{3} + [4]+ {3} =PRIME(19)
[51{4} +[51+ {4} =PRIME(29)
[6]1{5}+ [6]+ {5} =PRIME(41)
[8 [8 (71)
[

(H+E) prime(1)
(H<E) prime(2)
(H+E) prime(3)
(H«E) prime(4)

(H < E) prime(5)
{7} + 1+ {7} =PRIME(71 (H-E) prime(6)

[91 {8} + [9]+ {8} =PRIME(89) 1. ) prime(7)
[10] {9} + [10]+ {9} = PRIME(109) 1. £y prime(s)
[117{10} + [11]+ {10} = PRIME(131) 11. 1) primeqo)
131 {12} + [13]+ {12} = PRIME(181

1571 {14} + [15] + {14} = PRIME(239
61 {15} +[16]+ {15} =PRIME(271
197 {18} + [19] + {18} = PRIME(379
201 {19} + [20]+ {19} = PRIME(419) 1. 1 prime14)
[
[
[
[
[

(181) (11. ) prime(10)
(239)
(271)
(379)
(419)
171{20} + [21]+ {20} =PRIME(461) (H-E) prime(15)
(599)
(701)
(811)
(929)
(991)

(H<E) prime(11)
(H<E) prime(12)

(H<E) prime(13)

2471 {23} + [24] + {23} = PRIME(599
261{25} + [26] + {25} = PRIME(701
281{27} + [28]+ {27} =PRIME(811
301429} 4 [30] + {29} = PRIME(929
[317{30} + [31]+ {30} = PRIME(991
[35] {34} + [35]+ {34} = PRIME(1259
[38] {37} + [38]+ {37} = PRIME(1481
[39] {38} + [39] + {38} = PRIME(1559
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[
[
[1
[
[
[2
[ (H-E) prime(16)
[ (H-E) prime(17)
[ (H-E) prime(18)
[ (H-E) prime(19)
(H-E) prime(20)
1 (H-~E) prime(21)
1 (H-E) prime(22)
1 (H-~E) prime(23)
[41] {40} +[41]+ {40} =PRIME(1721

( )
( )
( )
(U721 (1. gy prime(24)
[44] {43} + [44] + {43} =PRIME(1979)
( )
( )
( )
( )

(H -+ E) prime(25)
[45] {44} + [45] + {44} = PRIME(2069

[46] {45} + [46] + {45} =PRIME(2161
[48] {47} + [48] + {47} = PRIME(2351
[50] {49} + [50] + {49} = PRIME(2549

(H+E) prime(26)
(H+E) prime(27)
(H < E) prime(28)

(H+E) prime(29)




[53] {52} + [53]+ {52} =PRIME
[54] {53} + [54] + {53} =PRIME
[55] {54} + [55]+ {54} =PRIME
[56] {55} +[56]+ {55} =PRIME
[59] {58} + [59] + {58} =PRIME
[60] {59} +[60] + {59} = PRIME
[64] {63} + [64] + {63} =PRIME
[65] {64} + [65]+ {64} =PRIME
[66] {65} +[66]+ {65} =PRIME
[68] {67} + [68]+ {67} =PRIME
[70] {69} + [70] + {69} = PRIME
[76]1 {75} +[76]+ {75} =PRIME
[83] {82} + [83]+ {82} =PRIME
[85] {84} + [85] + {84} =PRIME
[86] {85} + [86] + {85} =PRIME
[89] {88} + [89] + {88} =PRIME
[93]1{92} +[93]+ {92} =PRIME
[94] {93} + [94] + {93} = PRIME
[96] {95} + [96]+ {95} =PR]ME(9311)
[100] {99} + [100] + {99} = PRIME(10099) (H-E

EEEEEEEEEEEEEEEEEEE

) prime(49)

[1017{100} + [101] + {100} =PRIME(10301) ;7. ) prime(s0)

[H+1]{H}+[H+1]+{H}=
[H+1]{H}+[H+1]+{H}=
[H+1]{H}+[H+1]+{H}=
[H+1]{H}+[H+1]+{H}=

/1 /o

{H= {1} 205 {100}} #7[50."% "] prime]
{H={1} 725 {250}} #1[42."% "] prime]
{H= {1} 705 {500}} #7[37."% "] prime]
{H= {1} 225 {750}} #7[34."% "] prime]

[H+11{H}+[H+ 11+ {H}=[{H={1} 725 {1000}} 4 [31."% "] prime]
[H+1]{HY+[H+ 1]+ {H}=[{H={1} 2>5 {1250}} #71[30. "% "] prime]
[H+1]1{HY+[H+ 11+ {H}=[{H={1} 2>5 {1500}} #71[29. "% "] prime]
[H+11{H}+[H+ 11+ {H}=[{H={1} 725 {1750}} H[28. "% "] prime]
[H+1]{HY+[H+ 1]+ {H}=[{H={1} 2>5 {2000}} 7 [28. "% "] prime]
[H+1]1{H}+[H+ 11+ {H}=[{H={1} 2>5 {2250}} #1[27. "% "] prime]
[H+11{H}+[H+ 11+ {H}=[{H={1} 75 {2500}} H[26."% "] prime]

[H+11{HY+[H+ 11+ {H}=[{H={1} 2>5 {3000}} #7[25."% "] prime]
[H+11{H}+[H+ 11+ {H}=[{H={1} 725 {3250}} H[25."% "] prime]
[H+11{H}+[H+ 11+ {H}=[{H={1} 75 {3500}} 7 [25."% "] prime]
[H+11{HY+[H+ 11+ {H}=[{H={1} 2>5 {3750}} #71[25."% "] prime]
[H+11{H}+[H+ 11+ {H}=[{H={1} 7>5 {4000}} F [24. "% "] prime]
[H+1]1{H}+[H+ 1]+ {H}=[{H={1} 2>5 {4250}} 71 [24. "% "] prime]

]
]
]
]
]
]
]
[H+11{H}+ [H+ 11+ {H}=[{H={1} 2°5 {2750}} #7[26."% "] prime]
]
]
]
]
]
]
]

[H+11{H}+[H+ 11+ {Hy=[{H={1} 225 {4500} } 7 [24."% "] prime]



[H+11{H}+[H+ 11+ {HY=[{H={1} 225 {4750}} 1 [24.
[H+1]1{H})+[H+ 11+ {H}=[{H={1} 205 {5000}} 1[24.
[H+1]{H)+[H+ 11+ {H}=[{H={1} 705 {5250}} 1 [24.
[H+11{H}+[H+ 11+ {H}=[{H={1} 205 {5500}} 71 [24.
[H+11{H}+[H+ 11+ {HY=[{H={1} 205 {5750}} +1[23.
[H+11{H}+[H+ 1]+ {H}=[{H={1} 7°5 {6000}} H1[23.
[H+ 11 {H}+[H+ 11+ {H}=[{H={1} 225 {6250}} 7 [23.
[H+11{H})+[H+ 11+ {Hy=[{H={1} 205 {6500}} 71[23.
[H+1]{H)+[H+ 11+ {H}=[{H={1} 225 {6750}} 1[23.
[H+11{H}+[H+ 11+ {HY=[{H={1} 225 {7000}} 71 [23.
[H+1]1{H}+[H+ 11+ {HY=[{H={1} 205 {7250}} #1[23.
[H+1]{H)+[H+ 11+ {H}=[{H={1} 225 {7500}} #71[23.
[H+11{H}+[H+ 11+ {HY=[{H={1} 225 {7750}} 1 [23.
[H+1]1{H})+[H+ 11+ {Hy=[{H={1} 205 {8000}} 7[23.
[H+1]{H)+[H+ 11+ {H}=[{H={1} 205 {8250}} 1 [23.
[H+11{H})+[H+ 11+ {H}=[{H={1} 205 {8500}} #1[22.
[H+11{H}+[H+ 11+ {Hy=[{H={1} 205 {8750}} H1[22.
[H+11{H}+[H+ 1]+ {H}=[{H={1} 7>5 {9000}} H[22.
[H+ 11 {H}+[H+ 11+ {H}=[{H={1} 225 {9250}} 7 [22.
[H+11{H}+[H+ 11+ {H}=[{H={1} 205 {9500}} 1[22.
[H+1]{H)+[H+ 11+ {H}=[{H={1} 225 {9750}} 1 [22.
[H+11{H}y+ [H+ 11+ {Hy=[{H={1} 205 {10000}} #[22."% "] prime]
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